Embryology CAT 2

1/regarding stomach choose the correct:

a-rotate 90 clockwise

b-rotate 180 counter clockwise

c-rotate 180 clockwise

d-rotate 270 clockwise

e-rotate 90 counter clockwise

2/the structure not from mesonephric duct in male:

a-prostate

b-seminal vesicle

c-ejaculatary duct

d-epidydimis

e-efferent ductaules

3/nephron develop from:

a-uretric bud

b-metancphric tubule

c-mesonephric duct

4/choose the in correct  about  germ cells:

a-is endoderm

b-migrate to ganads in 8 week

c-they lie in seminephrous tubules in male

d-they appear from posterior wall of yalk sac

e-they are surrounded by follicular cells in females

 5/all of the structures derived from foregut except:

a-pharynx

b-trachea

c-vestibule of oral cavity

d-stomach

e-esophagus

6/all the structures derived from hepatic divertuclum  except:

a-kuppfer cells of liver

b-hepatic cord

c-intrahepatic part of biliary system

d-gall bladder 

e-cystic duct

7/ventral mesentery becomes:

a-lesser omentum

b-greater omentum

c-linoleic ligament

d-splenorenal ligament

e-gastrosplenic ligament

8/regarding the intestine choose the in correct:

a-large intestine is return earlier

b-they enter extraembryonic celom at 6 week

9/regarding the thyroid, choose the in correct:

a-its function start after birth

b-parafollicular cells is mesoderm

c-develop from the floor of pharynx

10/regarding pancreas choose the correct:

a-major part of dorsal bud is main pancreatic duct

b-ventral bud is appear earlier than dorsal bud

c-islets of pancreas is formed by mesoderm

d-insulin is secreted after birth

11/what is not develop from pharyngeal pouch:

a-palatine tonsile

b-external auditory meatus

c-thymus gland

d-parathyroid gland

e-follicular cells

12/medulla of suprarenal gland is derived from:

a-neural crest cells

b-mesoderm

c-endoderm

d-ectoderm

e-mesenchyme

13/ejaculatory duct is derived from:

a-cranial part of mesonephric duct

b-caudal part of mesonephric duct

14/according to the tongue, choose the in correct:

a-taste buds develop after birth

15/according to the renal system ,choose the in correct:

a-pronephrous is functioning kidney

16/urogenital sinus is derived from:

a-intermediate mesoderm

b-splanchinc mesoderm

c-somatic mesoderm

d-lateral mesoderm

17/regarding pharyngeal arches derivatives, choose the incorrect:

a-second arch cartilage form stapus

b-third arch supplied by recurrunt laryngeal nerve

c-first arch form masticatory muscles

d-most of the mesoderm is from neural crest

18/according to the pharyngeal nerves, choose the in correct:

a-occular motor nerve

b-facial nerve

c-trigeminel nerve

d-vagus nerve

e-glossopharngeal nerve

19/mickels  diverticulum is ruminant of:

a-urorectal septum

b-yalk sac

c-yalk stalk

d-allantais

20/regarding veins,  choose the incorrect:

a-superior vena cava develop from right posterior cardinal vein

b-ductus venosus connect between IVC and right umbilical vein

c-viteline anastomosis around duodenum

21/testis pass in to the inguinal ligament in:

a-26 week

b-32 week 

c-24 week

d-16 week

e-20 week

22/all of the fallowing share in formation of inferior vena cava except:

a-right umbilical vein

b-right viteline vein

c-right subcardinal vein

d-right supracardinal vein

e-anastmosis of supracardinal and subcardinal vein

23/hindgut derivatives are all of the fallowing except:

a-descending colon

b-distal part of transverse colon

c-sigmoid colon

d-lower part of anal canal

e-rectum

24/according to the urinary bladder, choose the correct:

a-has dual origin of mesonephric duct and urogenital sinus

b-its epithelium derived from mesoderm

c-it derives entirely from urogenital sinus

d-allantois is not connected to it during development

25/regarding to the taste buds, choose the correct:

a-they have sensory nerve cells
